Answers for the Bar Chart Questions.
Which was the earliest of the ancient civilisations? When did it begin?

The earliest ancient civilisation was the Sumerians. It began in the year
4000 BC.

Which of the civilisations lasted for more than 1,000 years?

Four of the civilisations lasted for more than a thousand years, they
were the Sumerians, the Indus Valley, the Ancient Egyptians and the
Romans.

Which civilisation was Jesus born into? How long after his birth did that
civilisation continue for?

Jesus was born intfo the Roman Empire, which continued for another 476
years. (Our calendar is counted from the year Jesus was born, the
year O, so right now, it is 2020 years since Jesus' birth.)

Which ancient civilisation existed for the longest amount of time and how
long was it?

The Ancient Egyptian civilisation lasted for the longest time; it existed
for about 3200 years.

How much longer was the Ancient Egyptian civilisation than the Ancient
Sumerian civilisation?

The Sumerians existed for about 900 years less than the Ancient
Egyptians.

Which civilisation was ancient Britain part of?

Ancient Britain was part of the Roman civilisation. It lasted for
around one third of the total time of the Romans.

Which was the most recent civilisation and what year did it end?

The most recent civilisation is the Romans, which ended around 450AD.




